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Standards:

*MGSE6.EE.1 Write and evaluate expressions involving whole-number exponents.

«MGSEG6.EE.2 Write, read, and evaluate expressions in which letters stand for numbers. (
*MGSEG6.EE.2a Write expressions that record operations with numbers and with letters standing for numbers. For
example, express the calculation “Subtract y from 5” as 5-y.

«MGSEG.EE.2b Identify parts of an expression using mathematical terms (sum, term, product, factor, quotient,
coefficient); view one or more parts of an expression as a single entity. For example, describe the expression 2(8 + 7) as
a product of two factors; view (8 + 7) as both a single entity and a sum of two terms.

«MGSES.EE.2c Evaluate expressions at specific values of their variables. Include expressions that arise from formulas
used in real-world problems. Perform arithmetic operations, including those involving whole-number exponents, in the
conventional order when there are no parentheses to specify a particular order (Order of Operations). For example, use
the formulas V =s3and = 652 to find the volume and surface area of a cube with sides of lengths=12.
+MGSEG.EE.3 Apply the properties of operations to generate equivalent expressions. For example, apply the distributiv
property to the expression 3(2 + x) to produce the equivalent expression 6 + 3x; apply the distributive property to the
expression 24x + 18y to produce the equivalent expression 6(4x + 3y); apply properties of operationstoy +y+y to
produce the equivalent expression 3y.

«MGSE6.EE.4 Identify when two expressions are equivalent (i.e., when the two expressions name the same number

regardless of which value is substituted into them.) For example, the expressions y +y +y and 3y are equivalent becaus
they name the same number regardless of which numbery stands for.

Essential Questions:

¢ How are “standard form” and “exponential form” related? ‘
» What is the purpose of an exponent?

« How are exponents used when evaluating expressions?

« How is the order of operations used to evaluate expressions?

» How are exponents useful in solving mathematical and real world problems?

« How are properties of numbers helpful in evaluating expressions?

« What strategies can | use to help me understand and represent real situations using algebraic expressions?

« How are the properties (Identify, Associative and Commutative) used to evaluate, simplify and expand expressions?

« How is the Distributive Property used to evaluate, simplify and expand expressions?

 How can | tell if two expressions are equivalent?

oy

y
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4 Vocabulary Words:

iAssociative Property of Addition: The sum of a set of numbers is the
same no matter how the numbers are grouped. _

* Associative Property of Multiplication: The product of a set of numbers
is the same no matter how the numbers are grouped.

¢ Coefficient: A number multiplied by a variable in an algebraic
expression.

e Commutative Property of Addition: The sum of a group of numbers is
the same regardless of the order in which the numbers are arranged

e Commutative Property of Multiplication: The product of a group of
numbers is the same regardless of the order in which the numbers are

arranged.
e Constant: A quantity that does not change its value.

& Distributive Property: The sum of two addends multiplied by a number
Ts the sum of the product of each addend and the number.

e Exponent: The number of times a number or expression (called base) is
used as a factor of repeated multiplication. Also called the power.

o Like Terms: Terms in an algebraic expression that have the same
variable raised to the same power. Only the coefficients of like terms are
different. |

 Order of Operations: The rules to be followed when simplifying

expressions.
e Term: A number, a variable, or a product of numbers and variables.
e Variable: A letter or symbol used to represent a number or quantities

that vary

@®.
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PERIOD

NAME : DATE

Definition of Exponent

exponent (@&
/ p « An exponent tells how many times O

3 — . . a number Is multiplied by itself.
=444
base \’ d g <= 3 4 <« Exponent

3 times
Write each product using an exponent. Solve.

1.20x 20 2.4x4x%x4x%x4 3.2x2%x2x2x2x2x2

4.3x3x3%x3x%x3 5.10 x 10 x 10 6. 7XTXTXTXxTx7

Write each power as a product of the same factor. Then find the vﬁlue.

9.153 10. 6°

11. 0* 2. 7%

13. 55 14. 18 . .
)
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Student Name:
Exponents Check o Assessment ID:  ib.1692807

Directions: Answer the following question(s).

553
) E] What is the value of this expression? What is the value of (6" +27) ?

2 x2" A. 9
| ! B. 54
What is the value of this expression? C. 729
746 i D. 4,096

| I

El Which of the following expressions is

x3x3x37
What is the value of this expression? equal to 3

3
8 -4" A. 3 ,
| | B. 3°x3
.3 . t C. 4
El The volume of this cube is 6 units. |

. D. 4x4’

Which of these expressions is equivalent

6 todx4x6x%x6x6x67
e 6 AL
,6 3 — 4 xg’
ﬁhat is the va;ue of6 ? C. 24 " 48
D. 16x24
What is the value of (32 + 1)*?

El What is the value of this expression?
-2+ (@+5)

What is the value of this expression? i

6+ 4{5 -2y

|
\

= 1lluminate Itembank™

Stop: You have finished the assessment.
Generated On October 5, 2018, 5:25 AM PDT
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Write each as a product of the same factor (expanded). then
evaluate (solve).

w
w

T
s
it

==
t%
o

e |

Hied

A
%
>l

:

]
-~y

> |

Product of the same Factor (expanded):

J

Evaluate:

4

0.253

Product of the same Factor (expanded):

Evaluate:

J
L ' ' e
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NAME DATE PERIOD

Extra Practice —— -H-Ome WOY Y

Powers and Exponents

Write each product using an exponent.

1. 4 x4 x4 x4 2. 10x10x 10 3. 14x 14
4. I x3x3x3 5 2x2x2 6. 6x6x6x6x%x6
7. 82x82x82 8. TxTxTxTxTxT "8, 9.5%x95%95

Werite each power as a product of the same factor. Then find

the value.

10. 9* 1. 2 12. 3°

13, 4° 14. 6° 15. 5*
™ 16.85° 17. 1.3 18. 7'
,lbf','ﬂ

19. The number of Calories in a small banana can be written as 2”. What
whole number does 2 represent?

Expresslons
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NAME

DATE PERIOD

Order of Operations: Numerical Expressions

~ Parenthesis ( )
Ordfar of Operations . Exponents 52
1. Simplify the expressions inside grouping symboals, like parentheses. ! _
_ ' Muttiplication ]
2. Find the value of all powers, Di _ } Usawhichever
3. Multiply and divide in order from left to right. tvision g o
4. Add and subtract in order from left to right. f #dﬂﬁim Ueswtither |
- Subtraction J o smestt
Example 1 | |

Find the value of 48 + (3 + 3) - 22,

48+(3+3)-22=48 +6-22 Simplify the expression inside the parentheses.

=48+6-4 Find 22,
=8-4 Divide 48 by 6.
=4 Subtract 4 from 8.

Exercises: Find the value of each expression.

L7+2%3 2.12+3+5 3.16-(4+5)
Laams
/
4.8%x8+4 5.10+14+2 6.3x3+2x4
7.25+5+6x(12-4) 8.80-8x32 9,11 x(9-2%)

@/
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Order of Operations Check Assessment ID: _ib.1692911
Directions: Answer the following question(s).

c |I| What is the value of this expression?
2(3+3) +(5-3)°

Enter the value of 72— 24+ 3 x 5,
| |

What is the value of (3" - 75)°7

A. -68,921
B. 18
C. 216
D. 109,566

E| Which of the following numbers has
the SMALLEST value?

A. (2x10%+(2 x 10")
_ B, (9x10%)+ (7 x 10?)
Ui C. (5% 10%) + (4 x 102)
D. (3x103) + (5= 101)

Evaluate:

(9 x 10%) + (7 x 102) + (8 x 101) + (6 x
109)

978.6

9,786

97,806

9,000,700,806

oSQw»

©

== Illuminate Itembank™

Stop: You have finished the asses
Generated On October 5,2018, 6:34 AM PDT ¥ i
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NAME DATE ___ PERIOD
Extra Practice —) -H-Omework

Numerical Expressions

Find the value of each expression.

1. 14-5+7 2. 12+10-5-6 3. 50-6+12+4
4. 12-2x3 5. 16+4x5 6. 5+3x4-7
7.2x3+9x2 8. 6x8+4+2 9. 7x6-14

10. 8+12x4+38 M. 13-6x2+1 12, 80+ 10x 8
13.14-2x7+0 14. 156 -6x0 15. 30— 14x2+8 6
16. 54+ (8- 5) 17. 42 +3° 0+ 1T0p x 2,18 (11 =T)x 3 =5
19.25-9+4 20. 100 =10 x 2 21. 3 x4°

22. 11+4x(12-7) 23. 62-7x4 24. 12+5%-9

.'.i'

Expressions
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: Error Analysis
@ff& Jesus and Tabitha have the same problem and find different answers. Below is each person’s wor, k:

Steffe's Work

Jesus’ Work

16 +24+8+5%
40 +8+52
5+52%
53

=100

16+24 = B+5
40 +8+52
5+ 5%

5 + 25

=30

Tabitha's Work

16 +24+8+5%
16 +24+8+25
16 + 3 +25

=44

1. Evaluate the expression on your own to determine who is correct.

2. Who made what mistakes?
Steffe:

Jesus:

~/-. Tabitha:
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An algebraic

expression is made
of terms, variables,
coefficients, and
constants.

Atermisa A yariable s a A coefficient A constant is
number, symbol, such is the number avalue that
variable, or as a letter, nexttoa does not
combination that variable. It Is change. itis
of both represents an used to usually
separated by unknown multiply a represented
+or-—signs. quantity. variable. by a number.

" Terms ._.2..5@.
S Variables _

daie csiniong. :
ﬁonm.wszﬂu . .u : ﬁo:m.wm:.vm 5 .m ] | M
Biliiow rotante. :

\

Scanned with CamScanner



©

Parts of an Expression

Assessment ID:  ib.1692894

Directions: Answer the following question(s).

m How many terms are in the expression
2x° + 16x — 122

L =)

Which best describes the —2 in the
expression 4x° —2x +9 ?

A. term

B. factor

C. product

D. coefficient

Which of the following expressions
contain 3 terms? Select two that

apply.

. 8—6s+24z

. r+59_46k+y3

. 997 —a?-20e

. 774x—-3p—-18 + 34y

Select two expressions that contain a

coefficient of 4.
A, By+4-5x8
B. 4+2w+6+2
C. 4r+9
D. 2+4z

Which of these are terms of the
expression 3x* + 2x + 4?

3

4

2x
3x°
2x+4

32 +4

SR RN ES

Illuminate [tembank™
Generated On October 5, 2018, 5:55 AM PDT

ommYowy

Select all of the following that are
coefficients in the expression
a—3b+4c+12.

Stop: You have finished the assessment.
Page 1
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@m%ms;o Constant, qﬂa_ﬁ

:or__.s..-:ﬂﬂmg are p
i

Identify the tarms, varlables, 3.3&3_.-. and ooa-?..s,“uw._ each expression.

3. 4a-Tb+6+c
o

5.5—4x—8y
Terms:
Variables:
Coefficlents:

rasent In thisexpression? List them:

1

&

4.7=80-2-k
4.3:&! .
Variables:
Coefficlents:
Constants:

6.9k+T7~-k+4
Terms;
Variables:
Coefficlents:
Constants:

.
"
P,

-

When plus or minus signs separate an algebraic expression into parts,
each part is a termy. The numerical factor of a term that contains a
varinble is callec a coefficient, A term that does not contain a variable

is called a constant,

_m is the coefficient of 8. T_... Bx+y+3 TE

A

_._m.n_umnuommnmmsno_!
because Iy = y.

Identify the terms, coefficients, and constants In each expression.

17.3+7x+3x + X

Terms:

Coefficlents:

Constants;
Voxiab\es§ «

19. 20+ 5¢— a.+ 6o

Terms:

Coefficlents:

Constants:

Voyiob\e <
21 6m—2n+7

Terms:

Coefficlents:

Constants:

Vovioo\ic .

18. y+3y+8y+2

Terms:

Coefficlents:

Constants:

Vovigbo\e *
20.5C - 2d+3d-d

Terms:

Coefficlents:

Constants:

Voviab\e s
22. 7x -3y +3-2

Terms:

Coefficlents:

Constants:

Voviab\e &
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Lesson 4: Translating Phrases Into Expressions

e Atgd Subtract Multiply Divide

o gether Take away Multiply For each

: ‘-12111 Le_ft Over Product Divided by

n Minus Times Per

Plus Less than Multiplied by Quotient

Increased by Decreased of Each

Total Difference Each Every

More Than Fewer Than Per Shared equally
Twice
Double

*remember: a variable is a letter used to represent a mystery number

1. 5 less than a number

2. A number plus 7

3. 3 times a number

4. 30 divided by a number

5. 3 less than twice a number

6. nine less than a number

7. five times the number of books in the library

8. three more pancakes than his brother ate

9. two more than seven times Lynn’s age

10. 9 minutes less than Frances’ time

11. A plumber charges $50 to visit a house plus $40 for every hour of work. Define a
variable and write an expression to represent the total cost of hiring a plumber.

12. A camp leader figures that she needs one tent for every three campers, Phlsf a tent
for herself. Define a variable and write an expression to represent the number of tents
needed.

VLS
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Assessment ID:  ib,1692825
Numerical Expressions Check - j

Directions: Answer the following question(s). (\
Yvette is 18 years old. Her brother @

The cost of an apple is a dimes, andthe Goorge's age is one fourth of 2 years
cost of a banana is b dimes. Write an loss than Yvette's age. Write an

expressio_n t:.r the cost of 5 apples and 3 expression that represents George's age
[I}amwElS i lTes' in terms of Yvette's age, .
I il

2| Sarah is 12 years old. Her sister, Emily, o
2 is 8 years less than 3 times Sarah's age. James has 7 books. His friend Marcus

Write an expression for Emily's age in has 3 less than twice the number of_
terms of Sarah's age, . books James has. Write an expression
' | | that represents the number of books
Marcus has in terms of the number of
books James has, ;.

Charlie has 6 chocolate bars. Allen has 2 |
more than half the number of chocolate I
bars Charlie has. Write an expression for
the number of chocolate bars Allen has
in terms of the number of chocolate bars
Charlie has, c.

[ ] |

Match each description to the correct : . :
expression. s &E j

Daniel has 32 stickers. Daniel's sister,
Ashley, has 14 less than twice the _
number of stickers that Daniel has. Write ;
an expression to represent the number of 7
stickers Ashley has in terms of the |
number of stickers Daniel has, 4. |J

| _ ]

@ Chris bought a pack of 24 pencils. His
cousin Michelle has one half of the
number of Chris' pencils subtracted from
30. Write an expression to represent the
number of pencils Michelle has in terms
of the number of pencils Chris has, c.

|

4 )
Stop: You have finished the assessment, ‘__,
Page 1

uminate Itembank™
Generated On October 5,2018, 5:36 AM PDT
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NAME

kills Practice
Algebra: Write Expressions

Define a variable,

DATE PERIOD

Then write each phrase as an algebraic expression.
1. one more ball than is on the playground

2. three more cookies than are in the jar
3. twelve fewer questions than were on the first test
4. eight dollars more than the shirt costs

5. three times as many drinks on the tray

. five dollars less than Yumi’s pay

7. The English class has half as many students as the math class.

8. one third of Emily’s age

9. ten times the minutes spent exercising

10. MAIL Spencer bought 3 books of stamps and mailed a package. It cost $4.50 to mail the
package. Define a variable and write an expression to represent the total amount he
spent at the post office.

ASN WOCISSE)2 1) FINpoidas o) pajuesd 5| uoissjuuad “du ‘saruedue) jl|H-MRIDIW Byl & IYBRAROD

Expressions

94
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Version B

Five more than twice aﬁ\
number (F)]

S

Seven divided by three s_g 7
times a number (D) k™ - =
Three times a number
decreased by 11 A 3(n+15)-4 7,
S g hj
The product of nine and a
number, decreased by\ 23+ m 2
SixX o) Al
Thirty times d (?‘ 3x-11 t’ji_,,‘m--
5 decreased by f (7 d-3 (b~
Eleven less thana __ ~ -
number h % ot ﬁ’-ﬂéﬁ
Three subtracted from d 5_f
Thirty divided by 7 tlmes h—11 f
anumber (T {5
The quantity of a number
plus 2, increased by 3
Two to the third power
increased bym i oXB S b
Triple the quantity of n i
plus 15, decreased by 4~ 7+3x =
8 less than k cubed 2x+5 j
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The Disthilbiative Froperty
difference by a number, muRtiply each term inside the
parentheses by the number outside the parentheses.

Symbols b + ¢) = ab + ac alb —¢) = ab — ac
Q15 B s
. Examples 46+ 2)=4.6+4-2 37 —5)=3.7—-3-5 y

Use the distributive property to evaluate.

1. 2(16-6) 2. 4(12+3)
2;+ 3(7+2) 4. 1(8+3)
he Distributive Property to rewrite each expression.
7. 82+g) 8.4(h—g)
9.7(5-n) 10. 8 2m+1)
Undo the distributive property:
11. 4x + 16 12.3x+15

'._,.X+ 42 14. 36x + 30
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PERIOD \
NAME DATE___—— —— TR
Homework Practice- The Distributive Property @
Use the Distributive Property to rewrite each algebraic expression. Ls : :
7.6(n+4) 8.15(2+7r) 9.8(s+5)
10.3(5 + 8) 11.5(6 + b) 12.93 +v)
13.7(r +7) 14. 12(4 +v) 15.11(3 +5)

16. MOVIES Use the table that shows the prices of tickets and
various food items at the movie theater.

a. Four friends each bought a ticket and a bag of popcorn. How
much total money did they spend? '

Candy $3.75
Nachos $6.50

b. How much money will the movie theater make if a birthday party
of 12 kids each buys a box of candy and a soda but does not go
see a movie?

¢. How much more money will a person spend who buys three orders of nachos than a person who buys three bags of
popcorn? 4
¢
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NAME DATE PERIOD

Reteach- Equivalent Expressions (Combining Like Terms)

®

* Commutative Property: The order which numbers are added or multiplied does not change the sum or the
product.

*atb=b+aora+b=pb-a

* Associative Property: The way in which numbers are grouped does not change the sum or the product.
°(a+b)+c=a+(b+c)or(a-b)oc=a-(b-c)

* Like terms contain the same variables. Examples: 2y, y, and 7y are all like terms, but 4x is not.

Example 1
Simplify the expression 16 + (v+4).
I6+(v+4)=16+4+v) Commutative Property
=(16+4)+vy Associative Property
=20+v Add.

So, 16 +{(v+4) in simplified form is 20 + v.

Example 2
Simplify the expression 3x + (6y + 2x).
3x +(6y +2x) =3x+ (2x + 6y) Commutative Property
=(3x+20)+ 6y Associative Property
=5x+6y Combine like terms.

So,3x + (6y+ 2x) in simplified form is 5x + 6y.

Exercises
Simplify each expression. J ustify each step.

1.5+x+3 2.6+(x+4) 3.(b+10)+ 15
4.8x+5+2x S.(12+2u)+3 6.11p+8+7p
7.9x+(4z + 3x) 3,(3z+12x)+(22+7x) 9.5y+4z+ 7z
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Dlistribt.mvc Property and Combine Like Terms Check Assessment ID: _ib.1692973
Directions: Answer the following question(s).

‘ The perimeter of a square is 20x — 4 units. What The length of a side of an equilateral triangle is
Is the unit length of a side of the square, in terms represented by x + 3. What is the perimeter of
of x? the triangle?
L = - :
3x+3
Ix+6
3x+9

voow»

Use the distributive property to expand the
expression below.
6(x=T7)
I | ! IEI Which of these is equivalent to the expression 2x
+ xy?
(2+x)y
2x(1 +y)
x(2 +y)
3xy

Use properties of operations to simplify the
expression 24x—y—2x+13 -2 -4z

I | 'f
i

oowy

Create an expression that is equivalent to .
5y + 7x — 2y + 3x, using the fewest terms.

Use properties of operations to simplify the
expression below.

3(x+2)+4y+9x—5
[ |

El The length of each side of regular pentagon
ABCDE is represented by 3x + 1. Which ,:
expression represents the perimeter of the }
pentagon?

A 3x+5 ;r
B, 15x+1
C. 18x+6
D. 15x+5 !

Each side of a regular hexagon is represented by
x + 6. Which expression represents the perimeter
of the hexagon?

5x+ 30
6x+6
36x

6x + 36

Uowp

. Illuminate Iltembank™ Stop: You have finished the assessment,
Generated On October 5, 2018, 6:41 AM PDT Pagal
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NAME

Reteach- Aigebra: Variables and Expressions

PERIOD \
—

* A variable is a symbol, usually a letter, used to represent a number.
* In addition to the symbol x, the other ways to show multiplication are 23, 5t, and st.
* Algebraic expressions contain at least one variable and at least one operation.

Example 1
Evaluate 35+ x if x = 6.
35+x=35+6 Replace x with 6.
=4] Add 35 and 6.
Example 2
Evaluate y + xif x=21 and y = 35,
ytx=35+121 Replace x with 21
and y with 35,
=56 Add 35 and 21.
Practice:
Evaluate each expression if y = 4,
1.3+y 2,y+8
4.9y 5. 15y
7. yZ 8. y2 + 18

Evaluate each expression if m =3 and £ = 10.
10. 16 +m 11. 4k

13.m+k 14.7m + k

Example 3
Evaluatedn+3 ifn=2.
dn+3=4+2+3
=8+3
of 4 and 2.
=11
Example 4
Evaluate 4n -2 if n =5.
dn—2=45-2
=20-2
=18
3.4y
6.300y
9.5 +3+7
12.m k
15. 6k+m

Replace n with 2.
Find the product

Add 8 and 3.

Replace n with 5.

Find the praduct

of 4 and 5.
Subtract 2 from 20
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Substitution Check

| Assessment ID: ib.1693024
Directions: Answer the following question(s).

. EI A ticket broker is selling seats to a rock concert. If 7| What is the value of the expression 7+ dx =12
the broker's commission is a $5.00 base fee and when x = 27
$0.50 extra for every ticket (f), the total cost for | &
the broker's services is calculated by the
expression below.

$0.50¢ + $5.00

How much, in dollars, does the broker earn by r
selling 12 tickets?

I ] |

What is the value of this expression when y =47
4/ +3y-8
|

The soccer club had a party in a private room at
a restaurant. The restaurant charged $25 for the
private room, and $9 per person. The cost, C, for
p people to attend the party is modeled by the
equation below.

C=$25+ $9p

How much, in dollars, did it cost if 18 people
attended the party?
L |

What is the value of this expression when z =77

bz+9
| |

EI What is the value of this expression when x = 57

x2—2x
[ ]

3
What is the value of the expression 2y — 6y
when y = 3?

i |

El The airport taxi service uses the formula below to
compute the cost of a trip. 7

T=$3.00 + $0.35m

T is the total cost of the trip, $3 is the base
charge, and m is the time in minutes of the trip.
Use the formula to find the cost of a trip that lasts
50 minutes.

. llluminate [tembank™ Stop: You have finished the assessment.
Generated On October 5, 2018, 6:59 AM PDT Pagel
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PERIOD

NAME DATE

Skills Practice- Algebra: Variables and Expressions

Evaluate each expression ifa=3 and b= 4.

4.10+b 5.2a+8 6.4b-35a
7.a*b 8. 7a+9b 9.8a-9
10. b+ 22 1. +1 12.18+ 22 Q'
13. & » b* 14.ab+3 15. 150 —4b
16.ab+ 711 17.36 + 6a 18.7a+8b+2
1 =
Evaluate each expression if x=7,¥ =3 andz=8.
21.4 ’
19.x+ 2z 20.4x -2z Y é}

A%
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Unit 3 Study Guide: Expressions (Chapter 5 in Textbook)

Due Date:

Name:

Period:

Standard Problems

EE.1: Write | Evaluate the following expressions:

and evaluate z
_3x2+8+(3-1)

expressions 1. 20-36+32e2 2. AQ-3%

with

exponents.

: : k is shown:
3. Lex evaluated the following expression. His workis s

4+(16+4)*23
20 +4 *28
5 el
S *8
=40

Do you agree with his answer?

What mistakes were made, if any?

3.
4. Evaluate (%)3 5. Evaluate 73:

6. Evaluate 3%

7. Write 4 x4 x 4 x4 as an exponent.
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2a:Write Write an algebraic expression for:
expressions
with 1. six less than some number:
numbers and
variables
(translating 2. twice the sum of a number and 5:
word
phrases into
algebraic 3. fifteen less m:
expressions)

4. three times a number:

5. twice a number:

6. hdivided by twelve:

2b: Identify | Term: Each part of an algebraic expression separated by a plus or minus sign
partsofan | ¢onciant: A term without a variable; a number without a variable (ex. 3)

expression
using Coefficient: The numerical factor being multiplied by a variable (ex. 3x)
;nathematlcal Variable: a mystery number represented by a letter.

erms.

)
L, \

Identify the parts of the following expressions:

2m3+4c-~5 10x + 16 -5x2
Variables: Variables:
Terms: Terms:
Coefficients: . Coefficients:
Constants: Constants:

Complete the table below:

i List the List the List the
Number of _ )
Expression Constants, or Coefficients, or Variables, or
Terms .
write None write None write None
5x+2
11y + 3x
b2+ 5b-1
X2+ 3y + 4x
74
9g+f+8 é -

Scanned with CamScanner



-

2¢: Evaluate
expressions

variables.

1. Evaluate 3x2 - (x + 1) when x=2.

" th
2. There are 3 times as many oranges as apples ina fruit bowl. If atl;f Presig:zio:
number of apples, how many oranges are there when a= 5? Use the exp

3a

3. Evaluate x2 + 5x - 1 when:

4, Evaluate 5(n-2) when:

n=3:

n=5:

n=10:

5. Evaluatek + (5 - 4) when:

6. Evaluaten- (32-n?)-1whenn=2:
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